$$\Delta_{m}(X) = \sum_{k=1}^{m} l_{rk}(X)$$

$$-\Delta_{m}(X) + \Delta(X) = \sum_{k=m+1}^{\infty} l_{rk}(X)$$

$$|\Delta(X) - \Delta_{m}(X)| = |\sum_{k=m+1}^{\infty} l_{rk}(X)| \leq \sum_{k=m+1}^{\infty} l_{rk}(X)|$$

$$|\Delta(X) - \Delta_{m}(X)| = |\sum_{k=m+1}^{\infty} l_{rk}(X)| \leq \sum_{k=m+1}^{\infty} l_{rk}(X)|$$

$$|\Delta(X) - \Delta_{m}(X)| = |\sum_{k=m+1}^{\infty} l_{rk}(X)| \leq \sum_{k=m+1}^{\infty} l_{rk}(X)|$$

$$|\Delta(X) - \Delta_{m}(X)| = |\sum_{k=m+1}^{\infty} l_{rk}(X)|$$

$$|\Delta(X) - \Delta_{m}(X)| = |\sum_{k=m+$$

MR: 20 ar(x-20)k

$$\frac{1}{x}$$
 $\frac{1}{x}$
 $\frac{1}{x}$
 $\frac{1}{x}$
 $\frac{1}{x}$
 $\frac{1}{x}$

CK= |ak (X-xo)K|

X je bliž k xo miž X

[x-xo] < [X-xo]

pok |ak (x-xo)K| < Ck

THE NON (X, X) $\sum_{k=0}^{N} a_k (x-x_0)^k \implies \sum_{k=0}^{\infty} a_k (x-x_0)^k$